YIBO IX1B

M an A

>

PRIRLRESIFE, PUERBER=

A NEBEBENRLEERE, KEMERENLE
SERWHBERE, e TEB1T

RFRIRARIZ, BIREER

> > > > D

FREM, TRERK, FEESR
EHBTFRBIBRA, TR AEANERERKT

RS

o N 00 W =

xR/ EER. TS, 55, aFR
A MEIIEBNRFNRETINE, LIRESINREK

o|AtxE GB/T17702 IEC61071/GB/T17702 IEC60831

tialfifE 2.15UN(VDC)/60S

A=3CHE 10uF~8800uF
T2 SEAFRP+REBREERY

#4%E8PH >1000S (100VDC 10S at 50Hz)
11 SM=MBRER SRR

AT EENE, ER{EAFGFHE

REAREHERENEHESNEIETE, TElS, Sk
MFE, HERER AR

2
4
6
8

Z7E BB £ 450V~4000V
Mt E1000+2xUnV.AC 60S
AERESY% (J)
UxFLR40/85/21
10 RERAINEHRE
12 EERMEREERGFEER

MKPA-MS

~ Cn20pF +5% 5
Un 900V.AC

|  -25'C..+55°C SH

LTI

Eifg eLAfne -

10% (K)

Un(V.AC) Cn(uF) ®dD(mm) H1(mm) ESR(mQ) DV/DT(V/uS) lIrms(A) @40 °C
230 < 4000 76~136 80~350 <5 3~200 50~120
250 < 3200 76~136 80~350 <5 3~200 50~120
300 < 2400 76~136 80~350 <5 3~200 50~120
350 < 3200 76~136 80~350 <5 3~200 50~120
380 < 1400 76~136 80~350 <5 3~200 50~120
400 < 1200 76~136 80~350 <5 3~200 50~120
450 < 1000 76~136 80~350 <5 3~200 50~120
500 < 800 76~136 80~350 <5 3~200 50~120
hib < 720 76~136 80~350 <5 3~200 50~120
540 < 720 76~136 80~350 <5 3~200 50~120
600 < 560 76~136 80~350 <5 3~200 50~120
690 < 400 76~136 80~350 <5 3~200 50~120
700 < 400 76~136 80~350 <5 3~200 50~120
800 < 300 76~136 80~350 <5 3~200 50~120
850 < 250 76~136 80~350 <5 3~200 50~120
900 < 250 76~136 80~350 <5 3~200 50~120
1000 < 180 76~136 80~350 <5 3~200 50~120
1200 < 140 76~136 80~350 <5 3~200 50~120
1400 < 100 76~136 80~350 <5 3~200 50~120
1700 < 60 76~136 80~350 <5 3~200 50~120
1800 < 60 76~136 80~350 <5 3~200 50~120
2000 < 40 76~136 80~350 <5 3~200 50~120

Dimension(mm)

ESL

I I R N

ESR

(1119)

Ip

(A)

lIrms(A)

Un 630V.AC  @50~60Hz
15 76 {3 M6™15 30 M12716 30 8.0 600 5 1.81
18 76 90 M6™15 30 M12716 3 i 120 a2 2.24
25 76 100 | M6715 30 M12716 38 6.5 a7 8 3.12
30 80 100 | M6™15 30 M12716 38 5.0 960 10 313
30 80 100 | M6™15 30 M12716 38 4.5 1080 12 4.48
60 96 115 | M6™15 30 M12716 43 3. 1500 20 .47
UUn 900V.AC  @50~60Hz
26 76 150 | M8715 30 M12716 54 12 910 15 0.61
40 86 190 | M8715 30 M12716 08 3 1200 20 10.17
50 86 190 | M8715 30 M12716 03 = 1250 25 12.71
02 96 190 | M8715 30 M12716 03 3 1240 30 15.76
Un 1500V.AC @50~60Hz
23 96 230 | M8™15 30 M12716 81 14 805 20 16.24
SMBIR ST
JRE!

1+
Ji

Plastic cover (PBT)

76

|
e
)
|
\[

Ant1 alumina shell

Y A {4
esin 1njection port

e MR

KA A

1 2 1 i

40, 5

Nickel plated copper electrode

= 32 32 45 45

S M12*16 M12*16 M12*16 M12*16 M16*25 M16*25
M 12 £ M6*10 M6*10 M6*10 M6*10 M6* 10 M6*10
D 225 M8*20 M8*20 M8*20 M8*20 M8*20 M8*20




